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a. Keep your answer concise. Answers without explanations will have no point. When it is necessary,
illustrating your explanations with appropriate diagrams.

(. There will be negative points for cither wrong or unrelated arguments. Be precise and specific about your

arguments.

4, Shost answer problems: {20 points; LU F U0/ MET-R/INEFEL, 10 points each)

a. How does labor hearding affect the Solow residual in a recession?

b. Over much of the 19905, the U.S. economy grew 2t a faster rate than the Mexican economy. Does this
observation necessary contradict the prediction of economic convergence? Explain your answer.

c. In anticipation of the Y2K problem, many people withdraw their deposits from the bank in December
1999. What impact will this have on the money multiplier, high-powered money, and the money
supply?

d. According to the Lucas critique, why should policy makers not rely upon the Phillip's curvel
relationship between inflation and unemployment as the formula for monetary policy.

Essay problems: (30 points)

5. (15 points) Here is a news report about the past year in Cooland:

“Business confidence is low. Business investment is slowing down. Jobs are hard to find and firms have lay
off many employers. Productivity is growing slowly. Real GDP has declined and the price level is stable.”
Try to explain these events by using alternative theories of the business eycle: traditional Keynesian,
monetarist, and real business cycles. Are the facts as reported inconststent with any of the theories?

6. (15 points) There is an explanation for recent US consumer spending that leads to a different prediction for

fiuture spending and savings behavior. The genesis of that explanation is David Ricardo. According to the

Ricardo effect, consumers’ savings behavior is determined in part by govenmment borrowing, Ricardo

argued that imhviduals vnderstoed that rising federal debt represented an increased future tax obligation.

Accordingly, individuals would adjust their consumption/savings to include this obligation.

a Since 1998, the United States government has had a Iarge budget surpius. Some politicians called for
tax cuits to return this surplus to the people. According to Ricardo, what is the impact of a proposed tax
¢t on consumer spending?

b. Others have argued that the US government should pay back some of its debt. If the Ricardo effect has
an important influence of savings/consumption behavior, how would a reduction in the US government
debt affect consumer saving?

c. How would an increase in stock prices affect consumer spending according to Ricardo? Do you think
recent US experiences in booming Wall Street and low private saving rate can be explained by
Ricardo’s view? Discuss it.




